- Stadt — Land - Fluss

Multiplizieren Ausklammern Binomische Formel
A | 2x + 3y — 4x 2:X+4-2x a-(b+c) 2X + 4y —(6p +3q) + 6p (2a + 3b)2
I —7a+2b+4a —3-(—4)-f-f 3a- (2 +4b) 12ac — 9ab —-2a+(3a-1) (-x +y)2 I
C | 6bc +2cb ab-ab-b —b - (7+2c) Xy — XZ (@+b)-(a-h) (= 4x — 3y)?
I ab +2a2-ab 4g - (- 9g) - % (1,5+c)-2 16a%b + 20ab? -(X+y)+x (7x + 3)(7x = 3) I
|E |12c+08 —z-(=2)-f-2f (3q+on)- 1 rst? + 2srt (0 +q)=(q+p) (r=s)r+s) |
7 [osxy-y+xy —23-(=7)-3t-t2 2+s)3-T) 15az — 10ay + 5ax —2a—-(-a+h) 81p2 — 362 |
G | 20a%b + 3ab? — 10a%b 38-(-9,1)-x-x3 (5¢ +2) - (- 2) 27b2c + 9bc2 6u + (3v — 3u) 25k2 + 40km + 16m?2
7pq - 3qp -22-(-06)-fz-fu | -05- (8k-6m) — 25pq + 50qp —Tt—(r +21) Sa2—Zab + b
I | - 10k + 2+ 5k 8-()f-w-3 (a-c)-(1+a) abc + ac (—u+V)—v 100u? — 49v?2
ab +ac + ca 2-x+4-2x 3X - (2x +y) uvw2 — u2vw (8p +q) - (g + 8p) (= 6k + 15)2
K |6mn-13nm —8,9 (—4x) - x3 5pg(-p +q) 17a3c + 51a2c? 1,2ab — (2ab +c) (20h + 17)2
—y-3+17y a2b? - 2ab - b3 (15st — 10s) - % 0,7rt + 1,4t 5+c—(c—4) (1,5 + 1,4a)2
M| 14h+h-6-1 4,999 - (- 23g) - if (X +y) - (X = Y) - 33xy + 11y 8,2+ 2d + (-3d -0,2) (- 1,2b +1,1a)2
360p — (-4po) —5u-(-6u®-45-2w | (6h —m) - (- 2m + h) 3,2k2 + 0,8k 7.1-3z+(2z-0,1) 144m?2 — 196k?
O|-12d+d-6 -27,8-(-8,77)-r3-r2 | 0,7 - (10p + 20q) —6s0 —12s 1,8ab — (-2 + 0,8ab) 9c2 + 24cd + 16d2
3cd - 2dc - cd 8e2- (- 9,1w)-x-e® | (500 —60p) - 0,1 3b - 6bc + 9bd —(x +2y) = (x +2y) —h2— Zhk + 2k2
Q| 07rs+r-03-s —13—32 - (-62%)-f2-5f | (7k+8n) -6 ~knz——n k2 — (k2 + h?) (10x — 2y)?
0,25p + 2p (-2v9)-v7-q-(=3v) | (2x+y)- 3y 20p +30 10m + (2m - n) (P +a)p-a)
S | -1,75ts + 0,75st —-8,9-(-4x)-x3 (-05)-(0,5+a) guzv - %uw (n +3m)-3m (2s — 1)2
6Xx2y + 2xy2 — x2y i2k2 - 2ki - g3 a-(c-d) 0,622 + 1,823 —a+b-(c+b) (6t + 7s)?
U | 100rs — 50sr 99h - (- 3h) - %" -u uv - (v +u) 16k? — 8k + 24k3 —(r+s)+t (0,2a + 0,6b)?
- 0,5uvw + uwv 5,52 - (- 623) -5z -2z 1,2rs - (3r —4s) rp+q)+s(p+q) —(-s=2t)+ 3t (0,7—-a)(a+0,7)
W | abc - cha —278-(-877):13- 1> | (269 -13p)- 36ac + 72ad 12a — (10a + 2b) + 2b (1,7t - 2r)2
2rst + 10rst - 8 i2-(-91)-0-p° % - (16q — 24r) —81r2s2 + 9rs —X=y)=(x+Yy) 0,81u? + 0,72uv + 0,16v?2
Y | -35+ab+35 —14—70 -(—6c3)-f3-6 liot - (100t — 70t?) (@+b)-3+(@+b)-x 0,5m—-(-1+m) 1,69c? —5,2cd + 4d?
—Xy +Xxy+1 6,7 - (=79) - t" - t° (15a2 — 20b?) - 14x2 = 7x (3=n)+n 225 w2 — 40022
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